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1.

(a)
Direct costs are costs that are directly identified with a job, batch, product 
or 
service. The whole cost can be attributed directly to a production unit or saleable 
service. All material, labour and expense costs which cannot be identified as 
direct costs are termed indirect costs.

(b)
SWEET THINGS LTD

Batch Cost Sheet


Lollipops (1000 units)

$
$

Direct Material



Sugar
200.00


Sticks
30.00


Others
120.00




350.00

Direct Labour



Dept 1
60.00


Dept 2
76.80
136.80

Prime Cost

486.80





Variable Overhead



Dept 1
67.50


Dept 2
15.26




82.86

Fixed Overhead



Dept 1
234.00


Dept 2
120.00




354.00

Batch Cost (1000 units)

923.66

(c)
Total cost of the entire order 

= 20000/1000 ( $923.66

= $18473.20
(d)
Total variable cost of the order
= 20000/1000 ( $(486.80 + 82.86)







= $11393.20
(e)
Price of order with discount
= 20000 ( $1.50






= $30000


Price of order with discount
= 60% ( $30000






= $18000


Profit without discount
= $30000 - $18473.20






= $11526.80

Profit with discount

= $18000 - $18473.20






= -$473.20





(= Loss of $473.20)

(f) By right, Sweet Things Ltd should not grant the discount to the customer since it will incur a loss of $473.20 by doing so.

However we are not given the statistical figures about the sales of the company. If 
it has already ‘broken even’ (earning normal profit), then it may be worthwhile to 
grant the discount since any amount earned after the break-even point may be 
regarded as profit (supernormal profit).
For the purpose of a numerical illustrations. Assuming that this government order 
is the sole order of a certain time-frame (say, a year), below are are the 
calculations for the break-even quantity required for the company to earn a 
normal profit (ie. the minimum amount to sell to attain profit).

Without Discount:

Selling price for 1 lollipop
=
$1.50


Variable cost for 1 lollipop
=
$11393.32 / 20000






=
$0.5696


Contribution per lollipop
=
$(1.50 – 0.5696)

=
$0.9303


Total fixed overhead
=
$(208000 + 120000)





=
$328000

Break-even quantity
=
$(328000 / 0.9303)




=
352562 lollipops

With Discount:


Selling price for 1 lollipop
=
$0.90


Variable cost for 1 lollipop
=
$11393.32 / 20000






=
$0.5696


Contribution per lollipop
=
$(0.90 – 0.5696)

=
$0.3304


Total fixed overhead
=
$(208000 + 120000)





=
$328000

Break-even quantity
=
$(328000 / 0.3304)





=
992737 lollipops
Also, since the order has been placed by the government for the Children’s Day celebration, Sweet Things Ltd may gain free advertising and good reputation by granting the discount. This may in turn boost its later sales, and in the long run, receive significantly more orders to cover the possible losses incurred.

Thus, Sweet Things Ltd should grant the discount if it has already bygone the break-even point. If it has not, it will need to see whether the losses incurred may be covered by the long term effects of the good reputation and advertising.
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